
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

1.1

0 0.5 1 1.5 2 2.5 3

Bromoform
Response Ratio

Concentration Ratio

      Response = 3.611e-001 * Amt - 1.050e-002
Coef of Det (r^2) = 0.999137   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_X\Method\82X031521W.M
Calibration Table Last Updated: Mon Mar 15 11:55:59 2021



0

1

2

3

4

5

6

7

8

9

10

11

0 0.5 1 1.5 2 2.5 3

Naphthalene
Response Ratio

Concentration Ratio

      Response = 3.795e+000 * Amt - 1.112e-001
Coef of Det (r^2) = 0.999604   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_X\Method\82X031521W.M
Calibration Table Last Updated: Mon Mar 15 11:55:59 2021
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1,2,3-Trichlorobenzene
Response Ratio

Concentration Ratio

      Response = 1.122e+000 * Amt - 2.084e-002
Coef of Det (r^2) = 0.999711   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_X\Method\82X031521W.M
Calibration Table Last Updated: Mon Mar 15 11:55:59 2021
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